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foUowing : ,„bidx cannot be

N The pair ofi«°®;^h.frar«i spectro- ' distinguished hy

fij CIS' H

(ii) tautomers
liU) enantiotners
,iv) diastereoiso®®' ^ Ooer )
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I 2 )

(b) Which of the following compounds
shows two PMR signals?

(i) H3C—<v />-CH

(ii) H3C—O—CH:

3^— ^^^"3

/CH3

o

m
H3C CH3

H ?
(iv) H3C—N—C—CH3

(c) Which of the foUowing pairs gives the
same osazone?

(i) Sucrose and fructose

(u) Mannose and fructose

(in) Glucose and galactose

(iv) Maltose and lactose

(d) WhichofthefoUowingisnot,
of thermoplasUc plastic^
(i) Teflon

(ii) Dacron

(Hi) Epoxy resin

(iv) Nylon
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( 3 )

(e) Azo dye is produced by the interaction
of an aromatic diazonium chloride with

(i) aliphatic primary amine
(ii) nitrous acid

(Hi) phenol

(iv) aromatic aldehyde

UNIT—I

2. Answer the foUowing questions (any
transition for

(a) Why does wave-
carbonyl group polarity of
length on increasing the P
solvent?

.  , Histineuish among 1°, 2°
(bj How could you di spectro-

and 3° ammes y
scopy?

pf two different

{cj The mass show molecular
Isomeric cycloall^_ them
ion peak at m/a = 69 and the
shows a base pe^ ̂ the cyclo-
other at m/z=83.

ency? How is it
•  Inrmot TTiaeuetic field(d) What IS ha^ rnal inagn

related to the

( Continued)



I 4 )

(e) How can you distinguish between ds-
and trans-stilbene with the help of
UV-visible spectroscopy?

(f) CH3OH is good solvent for UV-visible
spectroscopy but bad solvent for

infrared spectroscopy. Explain briefly.

3. Conjugated diene has hi^ than
isolated diene. Explain with smtable
example.

Or

The mass spectra of a hydrocarbon show an
abundant molecular ion peak at m/e 120

^ontaticcharacter. NMR spectrum indicates signal at
1-25 (d. 6H). 2-85 (m, IH) and 7.26 (s JhT
Determine the structure of i, ^
and explain the spectral date

1. Answer the foUowing que^Uons (any
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(a) The PMR signal for vir. i-
observed at high 6-valu/
acetylenic proton. Expiai

4x2=8
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(b) Anorsanm^^^^^^
formula C4H8U B m its UV

.1

spectrum. I 2855 cm'^ and
two peaks ai ^1715cm-areobse^d.^In^,,5,3
®P®ct«;"' %pectrum of the
observed. PM ^
compound is a

82.5 (q, 2H). (t, 3K)

(cj

„,,„d and explain the
Identify the compoun
band/peak.

What is base pe you stu y
IR spectroscopy. and P"
H-bonding ^
nitropbenol?

UNlT—l^
«(any three).

.  questions 2>^3=6
5- Answer the foUo

rtiannose
(a) Glucose, ni ^lain-

same osa^one. p-glucose to
convei^

(b) How y
D-maunose j

i^Bi



I 6 )

(c) Draw the conformers of a-D and P-D
glucose. Which conformer is more
stable?

(d) Why does anomeric —OH group
undergo methylation with CH3OH and
HCl under reflux but others do not?

6. Explain mutarotation with
mechanism.

Unit—HI

7. Answer the following questions :

probable

2x3=6

(a) What do you mean by the t
'chromogen', -bathochrome' ■!
chrome' and 'hypsochrome'? '

(bj p-carotene is orange reH ■
Account for the origin of it,

(c) Discuss brietiy the onm^ •
colour and constitution ^^ry for

8. Write one synthesis each nf .1.
the foUovying :

(a) Bismark brown 1^2x2=3
(b) Malachite green
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Or
when

Account for the in acid-
phenolphthalein is use 3
base titration.

unit—IV
. „ of free-radical

9- Discuss the ®®'=''^tTvine AIBN as free-addition polymerization havmg
radical generator.

„ iso'tactic. syndiotactic
Write short notes 0
and atactic polyma''®'

■ „ Question® :
^0- Answer the foUowmg 1

2x3=6

^ rubber? H""
(a) What is

O. P"-""-
(bJ Write a short n pakelite

t least(c) Write down at
and PVC.
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